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Con. 6014-09. {(REVISED COURSE)
{3 Hours)

M.B. : (1) Question No. 1 is eempulsory.
(2} Attemnpt any four questions out of six quastions.
(3} Figures 1o the right ingdicate full marks.
{4) Assume suitable data if required.

1. Solve the following -
@) For given network, find the current iy, iy and is.
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Ie} Find condition of symmetry in h-parameter and ABCD parameter.
(@ Find the curent in all branches of network shown in figure and voitage

BLrOSE Current saurce;

ig) Using relation v = 2~ show that 2] = J’J J
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rposition theorem ior network shewn in figure =

A |- 5 Firid Vx by using Supe
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wr in figure, when gach of

Voltage 12 1 {t = 2) and
initially relaxed. Use Laplace
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(b Determine the current it) in a saries BLE gircult sho
fs applied (1) Hamp

vhe following forces (voltages)
(i} Step Voltage 3u it = 2). Assume that the aircuit was

transiorm method.
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3. (a) Draw the Thevenin's squivalent natwork for cireuit shown in figure below — 10
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Eor fhe circuit shown in figure, write incidence matrix, fandamental cutset matrix. 10
and fundamental tiesel matTix.
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4. (&) In the given circuit, switch "K' is cloged at time t = 0, the sleady state conditicn 10
having reached previously, Obtain an expression for the current in the circuit at
any time t. 1 Ry = Ry = 100 chms, V = 10 volts and L = 1 henry, calculate at time
t = 5 millisecond - (i) curent | (i) voltage drop across Ry and (iil) voltage across L.
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(b} For the network shown in figure, draw the linear graph and write equiliorium 10

equation for KVL, Also find the loop curranis.
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5. (a) Determine V (0%), is{0"), -ﬁ {0%} and m—gm for the circuit shown in figure. 10

Assume zero initial conditions.
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() Find 2z paramiater by using interconnaction relation,
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B (3] Determing the voltage ratio f o eurrent ratis f transfer impadance T and 10
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driving point Impedanca R ferthe ety

ok shown in figure —
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T fa 0 Yes whether the givdn pofynomial is Bunwitz or pot 5 -'J,
F[sj-5?+25'3+235-'-$‘f+433w553+ﬁ:5.+¢l f
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{) Check whathar Fs) = —--5—:—— 5 15 positive redl function, 5
5" + 3542 ' {
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Synthesize the foflowirng functions. -

(0 2As) = lg?s * 52
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